Name: k &!«E Class: Date: ID: A

ul\‘%%” S ’-‘:‘)i.e-uﬁ;-w
Unit-5-Fest-ed-

Points*Total

Graph each equation. (2 Points Each) 4 y=x|+7
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Write each equation in slope-intercept
¥ form. (2 Points Each)

3 y+4=-3(x-1) 6 10x+5y=-35
by =1 Ox —(ox
=lex-3
S

=

7 y+7=-2(x-3)

A
p--)
y=

\/.;.7 <= =Ly o
- =)

o e et oy,




p
Name: k,${¢ ID: A
]

Find the x-intercept and y-intercept. Write an equation in slope-intercept
Then graph the equation. (4 Points) form for the line that passes through
the given points. (2 Points)

8 4x—7y=-28
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/Z Write an equatlon in slope -intercept

form for the line that passes through
the given point and is perpendicular

to the given line. (2 Points)
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11 (4,-7);, y=3x+17
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Write an equation in point-slope form
for the line that has the given slope m \
and that passes through the given ‘*7 - = -:j ( L—}} v{wL
point. (2 Points)
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